o NE=TPN; ==l =FH(H)
1 2022-11-04 [ArdotMpie] A2 HE 42 (10LE) X2 809,100
2 2022-11-04 |2ZAZ2|H 2O $2(102E) X2 370,000
3 2022-11-04 [MAMEH| 1022 RXEFE A2 3,699,000
4 2022-11-04 (HALZTEQ0f 1082 FAEFE X5 380,000
5 2022-11-04 |MZZstsnsME SHOIX| 108 FALSTE X F 944,000
6 2022-11-04 |st28 de/H ol (FZAXHoY M=) FXl2| 8494 108 & Xz 333,000
7 2022-11-04 |2lAlof 2|ZE(AME BT E M X) X 2] 89| 102 E X2 363,000
8 2022-11-04 (MHolEE|E AT 108 2548 X|F 1,390,000
9 2022-11-04 [MYotEME Zd|zz] 89d| X|Z(10¥) 60,363,030
10 2022-11-04 |?lelAE2|dtA AlMd 22| 84| 102 & X2 24,666,660
1 2022-11-04 |MZZ2stgnsdE 188 SZtxM S f/et M3 x| 21,230,000
12 2022-11-04 |33 &2 TVEHEH Foj_=g 737,960
13 2022-11-09 [10¥ & o|sh(EH ) 22| 84| X2 108,530,000
14 2022-11-09 [10€ & A2 8%d| X2 118,419,000
15 2022-11-09 |[dZotEE|g 2|29 7|H(10€ &) AF 25,194,490
16 2022-11-10 [10¥ SMS MH|A 0|22 X2 2,832,300
17 2022-11-10 [Z2LH9 ZEZ olledS 2lst10Y 2 wodas| X[ 200,000
18 2022-11-10 [®lal 2E2|eA Mojebd ae| thali =42 1082 X2 121,000
19 2022-11-10 (MR E=0/&a SHOIX| FA 25108 &) X2 240,000
20 2022-11-10 (MEotEME, Mo|c|o{ME EHOIX| FXIEd|(108) XS 4,400,000
21 2022-11-10 [E=2I*= 1082 X2 X2 4,400,000
22 2022-11-10 [10€ ot=&FH MH|A 0| EE X 1,100,000
23 2022-11-10 [M7|& 22 XA Fof 4,820,000
24 2022-11-10 (Mol A2 Z0I=7t QlE{ 7 G AMK| = 5,280,000
25 2022-11-10 (2E2lstA M7|A d| A M| $=2| 1,400,000
26 2022-11-10 [(MEe| A2 s2/dns M= 4,370,000
27 2022-11-10 [QH2}l6t2A 28F 24 (XL8) M Qe HA 5,500,000
28 2022-11-15 [MEEstlsnsHE MIALEE 7X 22 89| X[=(108) 339900
29 2022-11-15 (MEEstoanSHE AIME 22| EY 849|108 &) A 36,514,060
30 2022-11-15 |dEEst s SHE $27] FXl22] 8L9H[(108) A= 220,000
31 2022-11-21 |MotER|g & AZH| Foi 6,916,000
32 2022-11-22 M olEz|g olst HAEE 7¢ 775,500
33 2022-11-22 [11€¥ FA2H FX 25 X2 1,584,000
34 2022-11-22 [OlE|Y| 2ME 118 S0 E3%| 5|2 X2 3,570,000
35 2022-11-22 (M2t snSHE HISAIME H7|ME A (20224 HEHY]) 3,025,000
36 2022-11-22 |27|=35t7| e 7¢ 1,152,000




2022-11-22 [MJotEME o/& [ 4 4,731,000
2022-11-22 |M7|xt 5™ MAA OIS =M ZA} 17,866,000
2022-11-22 [MdotEz|g Zofela o eZ A o E ¢ 3,200,000
2022-11-22 |2zl gn|MEH E2E DID Mol =203 72¢ 2,970,000
2022-11-22 |ZG7tH B EHHFEH Lol 449,410
2022-11-22 |Md& Hatzd =2+ ol 2,919,680
2022-11-22 [ &2lX|dE 2Y A= E Folil_=& 723,880
2022-11-28 |HA=&=A HAEGH|(11EE) XS 285,000
2022-11-28 [WEZSel4 Al2|=5<ZH & mlotc 2[AlO|E> LMS 2&H| X|Z 770,000
2022-11-28 [&Z7[(Z@7|¥zelHole) FAIE+2 1082 & X[ 1,800,000
2022-11-28 |&5Z7[(?MIDS) RXIES+=Z 108 & X[ 604,000
2022-11-28 (92l AE2|gtA MI|otM ate| tilis=2 1182 X5 121,000
2022-11-28 [33d=&2a(Als, BE) 11 E §48H9Y| X5 790,000
2022-11-29 |QUAIHIIAIAHR RXE4(11¢) 94| X 400,000
2022-11-29 |MUt2stoaol d2kzdsl 203 29 19,800,000
2022-11-29 (Mol A2X M= M=} 13,530,000
2022-11-29 (&2 d|olliga] AT 18,700,000
2022-11-29 |23t 3H s7Hu|E Foi_=2 600,690




